


 set 0 AREA:  Disengagement  start=179600 tc = 297 numrows
= 7 numcols = 25 cyl_size 297 comp = 1.750000e+002 (1,1)

(On the) 10th of Av a`ai Will Evacuate dpti

In (5)765 eqyza (The) Gush yeb

3/25:02ax`lapiil`xyzxn`endl`ikaz3/25:02

3/25:07dlk`leqtzxklyrazayznipyya3/25:08

3/25:12didnklnpdcydelk`zz`dz`eaz3/25:12

3/25:18ghdpzpedvx`dixtnzlk`erayl3/25:19

3/25:25axeil`ebl`z`xknneig`yi`ek3/25:26

3/25:30`vilaiaeizanixvgdxy`pi`dl3/25:31

3/25:37pzzelpaykziaxnae`lpzzklk`3/25:37

      297 yebdpti

          6 dqyza
          2 a`ai


